
FUEL SYSTEM Gasoline Vehicle 

Page R-1 Service Parts Manual E-ZOOk2Ai.L..1,J 



Gasoline Vehicle FUEL SYSTEM 

When ordering parts, please specify the model and serial number of the product. 
* Indicates a component that is not available as an individual part. 
G** Indicates consult Customer Service Department for additional information. 

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTY. 

1 72092-G01 FUEL TANK, STANDARD   1 

2 27184-G06 PULSE TUBE, 16" LG.  . 1 

3 14099-G2 FUEL TANK CAP, STANDARD (WITH GAUGE)  1 

4 20039-G1 FUEL TANK CAP, FREEDOM ONLY (WITHOUT GAUGE)  . 1 

5 00438-G8 BOLT, 5/16 - 18 X 1 LG.  . 2 

6 00559-G8 WASHER, 5/16  . 4 

7 11098-G6 NUT, LOCK, 5/16 - 18  . 2 

8 72092-G02 FUEL TANK (FREEDOM)  . 1 

9 11027-G2 NUT, LOCK, 1/4 - 20  . 2 

10 72021-G01 FUEL PUMP  . 1 

11 72084-G01 FILTER, FUEL  . 1 

12 17470-G** FUEL SYSTEM TUBE, 3 1/4 LG. (CUT TO LENGTH)  . AR 

13 

14 17470-G** FUEL SYSTEM TUBE, 16 LG. (CUT TO LENGTH)  . AR 

15 11391-G4 CLAMP, HOSE  . 3 

16 

17 17618-G1 CLAMP, NYLON  . 1 

18 18292-G1 CLAMP, TUBING  5 

19 

20 32372-G6 VINYL TRIM, 6 1/4 LG.  . 1 

21 72229-G01 ADAPTER, FUEL LEVEL SENDER (FREEDOM)  . 1 

22 72230-G01 SCREW, #6 - 32 X 1/4 LG. (FREEDOM)  . 2 

23 

24 20048-G2 SENDER, FUEL LEVEL, FREEDOM (INCLUDES ITEMS 25, 26)  . 1 

25 * SCREW  . 5 

26 * GASKET  . 1 

  

Service Parts Manual 

 

EZED TEXTRON Page R-2 

   


